
Securing cargo. We invented the concept.

81
03

10
_D

AT
 D

  

Nockfäste Stödbanke HD
Cam Attachment/Kammbefestigung

Art.nr 810310



DescriptionBenämningPcsPart.noPos.
Mounting PlateÄmne Monteringsplatta14130751
Friction PlateGlidplatta 22,5° nockfäste vinklad 18000052
Shim PlateShimsplåt 280 x 42 x 618109593
Lock nutLåsmutter LM6M Hög M20 FZB42118614
Lower ClampUNDERBYGEL18000145
Rubber PuckGUMMIPUCK  BYGELFÄSTE28006566
WasherBricka 22x60x4 FZB DIN902121028517
WascherBRICKA BRB M20 FZB22119028
ScrewSkruv M6S M20x150 FZB22111759
ScrewSKRUV MF6S M10x40 FZB221119310
Lock nutLåsmutter LM6M låg M10 FZB221185611

Securing cargo. We invented the concept.

81
03

10
_D

AT
 D

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Cam Attachment Page 2 

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

Vikt / Weight: 10,2 kg

Åtdrages efter behov /

Tightened as needed

Tjärspraya skruvarna vid montering/

Tar Spray the screws when mounting

250 Nm

19
0

29
2

296

14
5

44 75

12
2

25

(1
20

)

148

237

250 Nm

1

2
3

4

5

6

7

4

9

a4C

Svetsinstruktion / Welding instruction / Schweissanleitung

enligt SS-ISO 5817 Nivå C/

according to SS-ISO 5817 Level C/

gemäss SS-ISO 5817 Fassung C
 

MMA typ 111: E 42 4 B 42 H5; EN ISO 2560-A /

MAG typ 135: G3Si1; EN ISO 14341-A-G

MAG typ 138: T46 4 M M 2 H5; EN ISO 17632-A

11

10

50 Nm8


